## **Corrigendum**

Date: 11.08.2023

Hindustan Petroleum Corporation Limited had issued an Advertisement regarding Appointment of Regular/Rural Retail Outlet (Petrol Pump) Dealerships at various Locations in the State of Maharashtra on 28.06.2023 in Times of India, Navbharat Times and Lokmat Newspapers

As mentioned in the Advertisement, the detailed Advertisement was given in the web site <u>www.petrolpumpdealerchayan.in</u> with Serial Nos. 1 to 1400.

This is to inform that there are corrections for Locations against Sr. No. 39, 74, 81, 203, 210, 278, 282, 383,821, 1078, 1079, 1080, 1081, 1089, 1092, 1201, 1237. The list of these locations with corrected details is provided below.

SR No	Name of Location	Revenue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site	Minimum Dimension (in M.)/Area of site (in sq.M) *			Finance to be arranged by Applicant		Mode of Selection	Fixed Fee/ Minimu m Bid Amoun t in Rs(Lakh s)	Security Deposit in Rs.Lakhs
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular/ Rural	MS+HSD in KL	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC CFS DC	Frontage (m)	Depth (m)	Area (sq.m)	Estimated working capital requirement for operation of RO	Estima ted Fund requir ed for develo pment of infrast ructur e at RO	Draw of Lots/ Bidding		
39	FROM VILLAGE ASHTA TO VILLAGE NALEGAON, TALUKA CHAKUR, RENAPUR UDGIR HIGHWAY, ON NH	LATUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
74	WITHIN MIDC WALUJ ON MAIN ROAD	AURANGABAD	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
81	ON NH 53, BETWEEN KHAMGAON TO NANDURA(INCLUDING KHAMGAON CITY AND NANDURA CITY BYPASS), ON LHS WHILE TRAVELLING TOWARDS NANDURA	BULDHANA	Regular	150	ST CC 1	CFS	45	45	2025	0	0	Draw of Lots	0	3
203	GHATKOPAR	MUMBAI SUBURBAN	Regular	400	OBC	DC	20	20	545	32	75	Draw of Lots	15	4
210	MUMBAI CITY WITHIN MUNCIPAL LIMIT 2	MUMBAI CITY	Regular	700	SC	CFS	20	20	545	0	0	Draw of Lots	0	3

278	ON NH53 BETWEEN DUGGIPAR AND KHURSHIPAR ON RHS WHILE TRAVELLING TOWARDS RAIPUR FROM NAGPUR	GONDIA	Regular	600	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
282	ON NH53 BETWEEN DUGGIPAR AND KHURSHIPAR ON LHS WHILE TRAVELLING TOWARDS RAIPUR FROM NAGPUR	GONDIA	Regular	440	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
383	UPTO 3 KM FROM KM STONE NO. 138 ON NATIONAL HIGHWAY NO. 353 C ON EITHER SIDE OF THE ROAD	GADCHIROLI	Regular	620	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
821	VILLAGE SANGVI SUNEGAON, TALUKA AHMEDPUR ON NH 361	LATUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1078	FROM KIRAVLI TOLL PLAZA (NEAR RELIANCE PETROL PUMP) TO KALAMBOLI CIRCLE ON NH48 (OLD MUMBAI-PUNE ROAD)	RAIGAD	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1079	WITHIN MUNICIPAL LIMITS PANVEL, ON MAIN ROAD	RAIGAD	Regular	280	OPEN CC 2	DC	20	20	400	32	75	Draw of Lots	15	5
1080	WITHIN 7 KMS FROM PALASPA PHATA TO KARNALA ON LHS, ON NH-66 (MUMBAI-GOA ROAD)	RAIGAD	Regular	230	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
1081	WITHIN 12 KMS FROM KHARPADA TOLL PLAZA TO PALASPE PHATA ON LHS ON NH-66 (GOA- MUMBAI ROAD)	RAIGAD	Regular	230	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

1089	BETWEEN SHEDUNG TOLL PLAZA AND PALASPE PHATA, ON NH 48	RAIGAD	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1092	FROM ULWE TO PALASPE PHATA ON LHS ON NH 348 (JNPT ROAD)	RAIGAD	Regular	200	OBC	CC	35	35	1225	32	12	Bidding	30	4
1201	WITHIN MUNICIPAL LIMITS OF WADA	PALGHAR	Regular	300	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1237	ON SH50 (NEWASA SHEVGAON HIGHWAY), UPTO 5 KM FROM IOCL OUTLET SHRI DNYANESHWAR SSK LTD, BHENDA, TALUKA NEWASA WHILE TRAVELLING TOWARDS SHEVGAON	AHMEDNAGAR	Regular	290	OBC	СС	40	40	1600	32	12	Bidding	30	4

Applications for these locations along with online payment of Non-refundable application fee, as applicable for these locations, should be submitted on-line by 10/11/2023. The facility for submission of on-line application will be withdrawn immediately after 10/11/2023.

Applicants who have already submitted their applications against these locations may kindly check the corrections and if required, should withdraw and resubmit their application.

All other Terms and Conditions of the Advertisement published on 28.06.2023 remains unchanged.